N = 0l & AFESE H Ml A
20238 =& 3 3 LB I8 xFA
2A: JIEXEA
M AHH2IZLHIOIEZHA)
chel: Jl2Ad| (CHl: X 21)
2A - B C9(3) - MPAY - BES Ofl o I3 o GImE==l
JIE ZFA 67,196,665 37,119,626 30,077,039
= 96,000 96,000 0
< 38,187 38,187 0
i 67,062,478 36,985,439 30,077,039
HHE2HAY|(JIEZTA) 29,080 34,120 25,040
JlE23l 29,080 34,120 5,040
JlE23l 29,080 34,120 5,040
202 44| 7,920 12,960 5,040
01 =2LHOAHI 7,920 12,960 5,040
Oo2loibl(=SZl)
110, 000 *6 EHEF+ 122 7,920 12,960 5,040
NYeHy Azk 23t 114,320 121,740 AT,420
ZEETEoE ¥ 2ot 114,320 121,740 AT,420
DETEEY BIP|lsgs42st 104,020 111,440 AT,420
201 LE23H| 56,840 58,840 A2,000
03 A2ZEH| 0 2,000 A2,000
OZH&EHZ| #HAF K& o 0 2,000 A2,000
202 o4t 11,980 17,400 25,420
01 2LHOABI 7,080 11,400 24,320
OJlgges-d 110,000 %401 128 5,280 9,600 24,320
04 =M=t 4,900 6,000 21,100
OAT =R s8It KX =2/
4,900,000 %101 4,900 6,000 21,100
AETHE 29 464,640 543,823 AT9,183
SEHOI HAHKIA 464,640 543,823 AT9,183
OlatEd o 2te| 185,000 214,183 N29,183
202 o4t 12,000 24,000 12,000
01 =2LHOABI 12,000 24,000 12,000
OUlAHSF 2l 100,000 %501 128 6,000 12,000 26,000
OMZes JLFA
100,000 %501 128 6,000 12,000 26,000
301 et Z 0 1,000 A1,000
11 EALHIXIRAZ 0 1,000 A1,000
OF2EMAMRAY s S &N
0& 0 1,000 21,000
403 [HXISHMSAH=201& 33,974 50, 157 16,183
02 SI12S0UE N2 A AL 33,974 50, 157 16,183
OXIMICE XIZTHE 22 AIAE 2= XX CHA|
=23 33,974,0002 33,974 50,157 216,183
I 2ES23 3| 270,000 320,000 A50,000
202 44| 20,000 70,000 A50,000
01 =2LHOIHI 0 50,000 A50,000
OJ| 223 SsdRFA o 0 50,000 A50,000




2AM:

JIExEA

M ofdig|
el oldlel CEREERD
2A - B E9(SH) - HRAIY - BES 0] b0t o & e HIDE2
ollgiy| 27,334,646 30,992,744 A3,658,098
ollg1gl 27,334,646 30,992,744 A\3,658,098
ollgid| 27,334,646 30,992,744 A\3,658,098
801 olldIb| 27,334,646 30,992,744 A\3,658,098
02 Mol - =S E I 21,834,646 25,472,744 A\3,638,098
O - TH&H ollglb] 21,834,646,0002 21,834,646 25,472,744 23,638,098
03 UEREZ 0 20,000 220,000
OURE=E= o 0 20,000 220,000
st SAXA =g 46,372 57,612 A11,240
S201Y & BHEe = 46,372 57,612 11,240
1512t JHE Q| AN ZAES 14,930 25,170 /10,240
201 et | 5,760 9,760 24,000
01 At=22t2ld| 5,760 9,760 24,000
Oget=2H| 3,200 7,200 24,000
0 A= 2357
20,0002*20E+33| 1,200 3,200 A2,000
02 A2 G| 500,000 *43] 2,000 4,000 A2,000
202 044 6,720 12,960 6,240
01 =2LHOABI 6,720 12,960 26,240
ZAIE R 100,000 #4014+ 122 4,800 9,600 4,800
O, 3¢ ZMGRFA
40,00021%401% 12 1,920 3,360 A1,440
MZ2 20 22ot= S&&EcI=E 22,200 23,200 A1,000
201 LE23H| 20,200 21,200 A1,000
01 At22teld| 19,500 20,500 A1,000
o2g=< 19,500 20,500 A1,000
OBIRIHEE LS 4,000,000 4,000 5,000 A1,000
DEEL JIs2st 1,002,370 1,007,650 25,280
AN SEHFPH 1,002,370 1,007,650 5,280
HE0HM =282 1,002,370 1,007,650 5,280
202 44| 7,200 12,480 5,280
01 =2LHOAHI 7,200 12,480 A5,280
OB+ 90,0002 *401%12& 4,320 9,600 5,280
SEXO HRHH =X 85,720 88,220 A2,500
HEHE 29 L 2| 85,720 88,220 22,500
HEHE 2 13,220 14,720 21,500
202 04t 3,900 5,400 21,500
01 2LHOABI 3,900 5,400 21,500
HEAN PR3
130,000 *301% 10 3,900 5,400 21,500
L2EHSKR 72,200 73,200 A1,000
202 44| 1,400 2,400 A1,000




A JIExEA
M SEHQ HIHEFH FX
Pl HRdd 29 2 2 (St M 2l)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
01 =2LHOAHI 1,400 2,400 A1,000
OA&EHASR FA
140,000 %101% 10 1,400 2,400 1,000
OIRANM 28 FX 1,042,017 1,266,217 A224,200
= 96,000 96,000 0
< 38,187 38,187 0
i 907,830 1,132,030 A224,200
QIAH FX 607,320 769,520 A162,200
= 96,000 96,000 0
== 14,560 14,560 0
i 496,760 658,960 A162,200
QIFZMRH 105,920 109,920 24,000
202 44| 4,800 8,800 24,000
01 2LHOABI 4,800 8,800 24,000
OPHMAIZZXI 200,000/ *301+62 3,600 7,200 23,600
OELHE AP 248 100,000 *201x6 1,200 1,600 400
SMEAZ KFAKY 321,000 454,000 133,000
301 et Z 321,000 454,000 133,000
02 MBIBEEGZ2(FILAHS, XLHA) 321,000 0 321,000
02017~2020 EMX SAMEAZ XA (MS~
RETeHX) 80,000 0 80,000
OAURHOtOl Ol &t 1,000,000 802! 80,000 0 80,000
O2021~2022F EMX S4tEe 3 XA 156,000 0 156,000
== 156,000 0 156,000
o X THOLO| 100,000 %500 1% 122 60,000 0 60,000
o =MOt0l 100,000 *400 1% 122 48,000 0 48,000
o ATHOLOI Ol&¢
200,0002 %2001 %128 48,000 0 48,000
02023F &M S4tE A= KNI 85,000 0 85,000
0 AIZ2 500,000& 702! 35,000 0 35,000
=gz 50,000 0 50,000
o X THOHO| 100,000 *150¢! 15,000 0 15,000
o =MOto| 100,000 %1500! 15,000 0 15,000
o ATHOLOI Ol &t 200,0002!%1009! 20,000 0 20,000
03 MBI BEX62(XILTHA) 0 454,000 454,000
02017~2020 ST SMEASKA(MS~
RETeHX) 0 80,000 A80,000
OAURHOLOl Ol &t o 0 80,000 A80,000
O2021~2022F EMX S4tEe 3 XA 0 234,000 234,000
=gz 0 234,000 234,000
o X THOHO| o 0 102,000 102,000
o =MOt0| o 0 60,000 260,000
o ATHOLOI Ol&¢ o 0 72,000 AT72,000




A JIExEA
M QM S5 FA
e R - e (CHol: X 2)
SA - BB SR(E) - HRAY - BES Ofl Aot J| & o GImE=ST;
020234 E=MIt SAEHAZ KA 0 140,000 140,000
0LAIZ2 o 0 50,000 250,000
=g 0 90,000 290,000
o0 X THOLO| o 0 35,000 /35,000
o =MOt0| o 0 25,000 225,000
o ATHOLOI Ol&¢ o 0 30,000 A30,000
SMOI& S0t AL EHEEH KR ALY 32,400 57,600 25,200
301 LBEAEZ 32,400 57,600 25,200
02 MBIBEEGZ2(FILAHS, XLHA) 32,400 0 32,400
OSMola S0t AL EEEE KA
30,00021%900!1x 122 32,400 0 32,400
03 AFSIEE X262 (KIS THA) 0 57,600 A57,600
OSMOola SOt HABHEE KR
0 0 57,600 257,600
QIS IIAI AL 381,200 443,200 262,000
== 11,400 11,400 0
i 369,800 431,800 262,000
QIRHMT|AAIS 343,200 405,200 262,000
301 LBEAEZ 343,200 405,200 262,000
14 JIEIE&Z 343,200 405,200 262,000
OFAAMIH XA 100,000 120,000 £20,000
01C1AICH 100,000 %550 Q! 55,000 60,000 25,000
0221 HICH 300,000% 150! 45,000 60,000 215,000
OZEdH2 XN 1,000, 00021800! 80,000 100,000 20,000
OBt K2 J1d - 8ol S Hd3 KA
0& 0 4,000 24,000
Oodysrd XA 300,000 %400 12,000 15,000 23,000
OFEFNHAZ WE0IX K& 30,000 45,000 A15,000
onees 1,000,000 * 10 AICH 10,000 15,000 15,000
0SAHH 1,500, 00024 * 10AICH 15,000 22,500 AT,500
0X A AICH 500, 0002 10AICH 5,000 7,500 22,500
HREs(O|12xFA) 37,070,000 3,000,000 34,070,000
HEXE 70,000 3,000,000 A2,930,000
2xZ ez 70,000 3,000,000 22,930,000
802 Btat=DIEt 70,000 3,000,000 A2,930,000
01 =NExZeEa 40,000 2,000,000 21,960,000
OZHIEEAZ TN Bt
40,000,0002! 40,000 2,000,000 21,960,000
02 Al - THIBZ=3Ee2 30,000 1,000,000 970,000
OSHIEXZ HHRH dht
30,000,000 30,000 1,000,000 A970,000
LHEHHKI= 37,000,000 0 37,000,000
SEMNEUHESDIZ HE 37,000,000 0 37,000,000




2AM:

JIExEA

M NWRESOEEZHAY)
@2 EHAXE (cHol: M)
S BB B9(3) - NRAR - AR oflave o = o fimE=r
704 GlIE= 37,000,000 37,000,000
01 olE= 37,000,000 37,000,000
OSEME A2 ME2
37,000,000,000& 37,000,000 37,000,000




